usl*CurMon:Entry$ usl*CurMon {ErrorFlag==0} asym_usl/ppm:pattern_number {ErrorFlag==0) asym_usl

c - _ Entries 53914
s 20000 evilree : :
E.r - 2000 »x  x mx x Tx% X ORX_ X 20001~ Mean 0.5595
: 18000¢ Entries 431789 - oTr oo T T T T X XE KR i
= - L I TTTTTUT TS TTHITI T, s s T 1800~
- - -
- Mean 4.961 | 1600
14000 1000 - Underflow 0
B -] |11 LI L] 1400
12000 ~ Std Dev 0.0636 : - Overflow 0
N 0HHEH HHE HSSESE Zlzls H 1200
10000 - [ R T EULHEELL 1000}
8000 - -
% B —1000 — 800
6000 X |5 I L 600"
- BEal N 1 1 U O B B e wxdin % ¥ % -
1 — 4000 :_ —2000 B RpX KX ®oOX }; 400 :_
I 2000 - y 200F-
_—|III|IIII|III |IIII|IIII'.:"";:‘II:I3 D:Illl I|IIII|IIIIIIII|IIII|I I|II _BDDD_IllllllllllllllIIII|IIII|IIII|IIII| D:||||| II|IIII|IIII|II L 1 1 1
0 100 200 0C 400 500 4.8 485 49 495 5 5.05 5.1 0 10000 20000 30000 40000 50000 60000 70000 -3000 -2000 -1000 0 1000 2000 3000
Entry$ usl*CurMon pattern_number ppm

run4016 000 maindet usl.png



dsl*CurMon:Entry$ dsl*CurMon {ErrorFlag==0} asym_dsl/ppm:pattern_number {ErrorFlag==0} asym_dsl

c 20000F = Entries 53914
o o o [
. : evilree - }{ 2000
= 3 18000 ~ x 3 o RN b X b - Mean 0.7443
& 9 | . | _ -~ A |
s I Entries 431789 2000~ ﬁ%’i%’i?’i-ﬁi_-_-ﬁ ol ) }“;’fi"f%‘fﬁﬂ 13001
© 8 16000 - " T . 1600F- StdDev  627.4
- Mean 4.789 - -
12000 :— Std Dev  0.06427 : []] ] 1200 :_ Overflow 0
B ==|=ls af=ls SEEEEE gEN B
10000~ % HH H HHHHH HHH 1000
8000 - ! -
- ~1000 800 :
6000~ 3 L L 600
! s St I R 1 Bl B ol AWV vt i
1 4000 — —2000— XX, X XXX XX % X x 400
- 2000 i y 200
D_—||||||||||III ||||||||II'.:"":‘I':l3 D1III |||||||II|IIII|IIII|IIII |||| _BDDD_Illllllllllllll|||||||II|IIII|IIII| D:IIII |||||||I|IIII|III|I|||
0 100 200 0C 400 500 46 465 47 475 48 485 49 495 0 10000 20000 30000 40000 50000 60000 70000 ~3000 -2000 —1000 0 1000 2000 3000
Entry$ dsI*CurMon pattern_number ppm

run4016 000 maindet dsl.png



USr*CUFMOn:EI‘ITFY$ usr*CurMon {ErrUrF|ag== } asym_ust/ppm:pattern_number {ErrorFlag==0} asym_usr

S 20000 - - Entries 53914
g : evilree 2000[ ., y i
3 18000[— | L : x 8 2500/~ Mean 1.028
;E - Entries 431789 15“0_— }{;E . §}i}i}i ] }f}ﬁgﬁ}% -§}<§§i§}{ };}{ u
> 3 16000 |- Ry 17177151 757757777 - Std Dev  473.8
- Mean 4.919 1000~ 2000
14000 C - Underflow 0
12000 Std Dev  0.06319 5001 i Overflow 0
- - 1500 —
10000 — Or HEEEEERS = -
8000 eanE T -
- >00¢ 1000~
6000 — 1000 i
B 4000 SRR R i SN R R ool vivivivionivrod B
1_ B -1500 —}{gx}{}:x }”{% g }{}{xﬁ}{x ﬁ}{}{}{i }}E s 5':":'_
B — it MK K M
i 2000~ . 8 8 8 8 i
- L 3 - 2000 % i
DIIIIlIIIIlIII |IIII|IIIIH1U Dll I|IIII|III|III|IIII|III| _IIII|IIII|IIII|IIII|IIII|IIII|IIII| DlllllllI|IIII|IIII|III|IIII
0 100 200 00 400 500 475 48 485 49 495 5 5.05 0 10000 20000 30000 40000 50000 60000 70000 -3000 -2000 -1000 O 1000 2000 3000
Entry$ usr*CurMon pattern_number ppm

run4016 000 maindet usr.png



dsr*CurMon:Entry$

-3 UI

dsr*CurMon

A F
. o

run4016 000 maindet dsr.png

0 100 200 300 400
Entry$

20000

18000

16000

14000

12000

10000

8000

6000

4000

2000

dsr*CurMon {ErrorFlag==0}

evilree

Entries 431789

Mean 4.752

Std Dev  0.06539

4.8 4.85

dsr*CurMon

2000
B o o
B .
1500 — = :“x: X 5%
. K A S
LT TR T T T T ST TR T ARRaTaTa
1000 7
500
500
1000 L]
DR T TR R e B
~1500 (- y X y
B s
—2000
_IIII|IIII|IIII|IIII|IIII|IIII|IIII|
0 10000 20000 30000 40000 50000 60000 70000

asym_dsr/ppm:pattern_number {ErrorFlag==0}

pattern_number

asym_dsr
3000 Entries 53914
i Mean 1.196
25001~ Std Dev = 4347
i Underflow 0
2000
- Overflow 0
1500
1000
500/—
D_ | | L. lr] | | | | I | |9l 11 | | I I |
3000 -2000 —1000 2000 3000
ppm




yield usl:pattern_number {ErrorFlag==0}

0.071

0.0705

0.07

0.0695

0.069

0.0685

_|IIII|IIII|IIII|IIII|_

D.0715

0

10000 20000 30000 40000 50000 60000 70000
pattern_number

run4016 000 pairTree usl.png

12000
10000
8000
6000
4000

2000

8

yield_usl {ErrorFlag==0}

htemp

Entries 215862

0.07035

Mean

Std Dev  0.0008324

0685 0.069 0.0695 0.07 0.0705 0.071 0.0715

yield usl

6000

4000

2000

-2000

-4000

-6000

asym_usl/ppm:pattern_number {ErrorFlag==0}

- X
. K X p XK oox
T oMEXXT| % X %
C e kTl T 2T T THXTHRXX
- : L - L
|1 xiiilld LLLllouei | syl
LT o o | Lxx XX Xomx X

- ¥ p
L % s

% %
— %

I I | I I | L 11 1 | L 111 | I I | I I | I I |

0 10000 20000 30000 40000 50000 60000 70000

pattern_number

8000

7000

6000

5000

4000

3000

2000

1000

asym_usl/ppm {ErrorFlag==0}

PairTree

Entries 215862

Mean 0.5124

otd Dev 1496

&HE

= —

l
00

-4000 -2000

0

2000 4000 6000

asym_usl/ppm




yield_dsl:pattern_number {ErrorFlag==0} yield_dsl {ErrorFlag==0} asym_dsl/ppm:pattern_number {ErrorFlag==0} asym_dsl/ppm {ErrorFlag==0}

0.0695 h 8000 - -
: [ temp : - PairTree
B u B # 6000
o % = _ i L B e i
0.069 |- ‘ i Enties 215862 6000~ -7, "¢ - Entries 215862
et 10000 CTTTT sl T 171l -
- ' i - T T 5000
D.0685} | I Mean 0.06792 4000¢ i Mean  0.6918
- ‘-f 8000 — i -
- i Std Dev  0.0008435 20000 | [\ L{ LI f L LD AL ] 4000 Std Dev 1952
0.068 - | | | _
: 6000 []_—EEEEEESEEEEEHEEEEEEEE:E S EEHEEHEERE i
0.0675— i B 3000 —
i - ~2000 |- !
0.067— 40001 - 2000 —
- - 4000 — i
0.0665 2000 CULLPLLL L g LD LD L | 1000
- A A 4 A :-_5{ i 4 A :}{ . .
B B —6000 L 1 1 1 B
| | ~ - # o B
B i - * -
I::I'I::IEE_III|||||||||||||||||||||||||||||||| || |||||||||| J.||||||I|IIII |||| _BDDD_Illllllllllllll|||||||||||||||||||| D_lllll ||||||||||||||||||I |I|||
0 10000 20000 30000 40000 50000 60000 70000 %.DEE 0.0665 0.067 0.0675 0.068 0.0685 0.069 0.0695 0 10000 20000 30000 40000 50000 60000 70000 —8000 600040002000 O 2000 4000 6000 8000
pattern_number yield_dsl pattern_number asym_dsl/ppm

run4016 000 pairTree dsl.png



yield usr:pattern_number {ErrorFlag==0}

yield_usr {ErrorFlag==0}

asym_usr/ppm:pattern_number {ErrorFlag==0}

asym_usr/ppm {ErrorFlag==0}

0.071 — h 6000 :
: 20000F tem p 10000 PairTree
i 18000} | B x i .
0.0705¢ B Entries 215862 40001 ol . I Entries 215862
- 16000~ T ook E | x5 e wx% wx xxx % 8000
- . Mean 0.06976 | SRR R R R | | RS x TR T Dioookkknkx i Mean 1 047
. . T T T T T T T I FTTTT% [T1T [ XFTR%%T%I%
0.07 14000~ B B
- - 2000/~ I
I 8000 — al | 4000
0.069— - - | B
i 6000~ —2000 — B
3 : | oo | [odiadons RS ‘
0.0685— 4000~ |k x| [k T xR xR X % x 2000
- - a000| XL T R ke U - i
- 2000 X X I
0.068— N B i
L 1 1 1 | 1 1 1 | I | I | I | I | 1 1 1 | | ] | L 1 1 | I T | | I T 1 1 | 1 1 I | L 1 1 1 | I | L1 1 1 | I | I | | I I | D 1 ] | | | | ] ] | ] |1 | | | | | ]
0 10000 20000 30000 40000 50000 60000 70000 %.DEE 0.0685 0.069 0.0695 0.07 0.0705 0.071 0 10000 20000 30000 40000 50000 60000 70000 4000 -2000 0 2000 4000 6000
pattern_number yield_usr pattern_number asym_usr/ppm

run4016 000 pairTree usr.png



0.0685

0.068

0.0675

0.067

0.0665

0.066

0.0655

0

yield dsr:pattern_number {ErrorFlag==0}

10000 20000 30000 40000 50000 60000 70000
pattern_number

run4016 000 pairTree dsr.png

22000
20000
18000
16000
14000
12000
10000
8000
6000
4000
2000

yield_dsr {ErrorFlag==0}

htemp

Entries 215862

Mean 0.06739

Std Dev  0.0008665

[T T
m_
on-
N

0665 0.067 0.0675 0.068 0.0685

yield dsr

6000

4000

2000

-2000

-4000

0

asym_dsr/ppm:pattern_number {ErrorFlag==0}

e

L[
(1]

i ]

A e 1 N e, Y
M b T W
A e N e I
o T WK
W [ ] W
oM b 0+ W
W b 1T ® ¥
MW 1 T+ W
oW b W
A e N ey, I
W ———— 10— W=

10000 20000 30000 40000 50000 60000 70000
pattern_number

12000

10000

8000

6000

4000

2000

asym_dsr/ppm {ErrorFlag==0}

PairTree

Entries 215862

Mean 1.209

otd Dev 897.3

| l
4000 6000

asym_dsr/ppm




asym_usl

asym_dsl

asym_usr

asym_dsr

run4016 000 asy

at

| | ]
- _la5¢
0.002|—
- _lanc
0.001 —35(
| —30¢
D |
_0.001
_0.002 |-
.
_D.Dﬂ i | | | | I | | | | | | | | | | | | | | I | | | | | | |
ooz 0002  —0.001 0 0.001  0.002
asym_usl
as
| | ]
0.002— _|so¢
0.001— —25(
ol
_0.001|-
_0.002
- m
_0.003[
L1 L1 I L1 1 | | | L1 | | | L1 1 I L1 L1 | L1
~0.003 -0.002 -0.001 0 0.001  0.002

at

0.002
J.0015
0.001

2.0005

1.0005
—0.001
1.0015

-0.002

asym_usl

—50(

—45(

—40(

—35(

-0.003 -0.002 -0.001 0 0.001 0.002

at

asym_usl

0.002F- o0
D.0015F

N —40(
0.001F
2.0005F

n 30¢

o
).0005 | 20¢
-0.001F

- 10¢
).0015

- O
-0.002

IIIIIIIII|IIII|IIII|IIII|II D

at

0.002

0.001

-0.001

-0.002

_ |IIII|IIII|IIII|IIIIIIIII|III
D‘DG—SD.DGB -0.002 -0.001 0 0.001  0.002

asym_dsl

at

0.002

0.001

-0.001

-0.002

_Dlﬂﬂa|IIII|IIII|IIII|IIII|IIII|III

-0.003 -0.002 -0.001 0 0.001 0.002
asym_dsl

at

0.002

J.0015

0.001

2.0005

J.0005

-0.001

J.0015
u

=
|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I

-0.002
_lIIII|IIII|IIII|IIII|IIII|III

-0.003 -0.002 -0.001 0 0.001 0.002
asym_dsl

at

0.002

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

-0.002

m maindet’ matual correlation:

30¢

25(

20(

15(

10(¢

S0(C

45(

400

35(

30(

25(

200

15(

10C

50(

50(

40(

50(

40(

30(¢

20(

10(¢

0.002

0.001

-0.001

-0.002

50(

45(

—40(

—35(

30(

25(

200

15(

10(

x 50

-0.003

0.0020.00150.0040.0005 0 0.00050.0010.00150.002
asym_usr

i 50¢
o002 ™
- —40¢
0.001—
- 30¢
D |
_0.001 20
_0.002 10¢
: [ |
-0.003
| | L1 11 | L1 11 | L1 11 | L1l 11 | L1 11 I L1 11 | L1 11 I L1 11 | | D
—0.0020.00150.0040.0005 0 0.00050.0010.00150.002
asym_usr
ASYIIl _USI
= | ]
0.002F st
2.0015F —400
0.001F —35¢
1.0005 —30¢
oF 25¢
- 20(
2.0005
- 15¢
~0.001F
. 10¢
2.0015F
- 50¢
~0.002— ™
_I | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 I L1 11 | L 111 I L1 11 | |
—0.0020.00150.0040.0005 0 0.00050.0010.00150.002

ASVIID_USI o

asym_usr

0.002
: —22(
2.0015
n —20(
0.001F —18(
: — 16
0.0005
. 14(
O 12(
2.0005F 10
: 80C
—0.001
n 80C
D.0015 40(
- . 20
-0.002

OL

2&{#01 &0.0040.0005 0 0.00050.0010.00150.002

.png R

at

- — _|50¢
0.002|—
B —|40¢
0.001
B 30¢
0~ g
- 20¢
_0.001
_0.0021— 100
I N
_D;DGS _| | L 111 | L1 11 | L1 11 | L 111 | L 111 I L1 11 | L1 11 I L 111 | |
> 0.0020.00150.0040.0005 0 0.00050.0010.00150.002

asym_dsr

at

| ]
i —50¢
0.002
Z —40(
0.001
o =
~0.001
~0.002F
i 0
-0.003
I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I D
~0.0020.00150.0040.0005 0 0.00050.0010.00150.002
asym_dsr
e N
0.002F- —|24¢
: —22(
2.0015
n —20(
0.001F —18(
: — 16
0.0005
. 14(
o
0.0005
~0.001F
0.0015
-0.002 ™
_IlllII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
-0.0020.00150.0040.0005 0 0.00050.0010.00150.002

asym_dsr

at

0.002F —50¢
2.0015F
- —l40(
0.001
0.0005
. 30¢
o
0.0005 20(
-0.001F
: 10(
0.0015
.
-0.002
_IlllII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
-0.0020.00150.0040.0005 0 0.00050.0010.00150.002

asym_dsr



asym_usl

asym_dsl

asym_usr

asym_dsr

run4016 000 asy

asym_usl

12 [ ndf 35.33 / 40

p0 1.051e-07 £7.115e-08

P 0.9993 = 0.0001

—0.001—

-0.002 — <

-0.003 -0.002 -0.001

asym_ usl

72 [ ndf 37.03 740

p0 2.728e-07 £ 2.395e-07

P 1.065 = 0.000

0.002

—0.001

-0.002

-0.003 -0.002 —0.001 0.002
asym_usl
0.001 224.2 [ 40
i | 1.119e-06 + 1.781e-06
Ly
20008 - J[f # -0.4279 = 0.0033
0
).0005 |-
-0.001
=1 1 1 1 I 1 1 1 1 | 1 1 1 1 | 1 1 1 1 I 1 1 1 1 | 1 1

-0.003 -0.002 -0.001

d

=
oo

=
o

=
|III|III|IIIIIII|III|III|III|III|I

0.4

0.2

-0.2

-0.4

-0.6

-0.8

0.002

:

225.4 / 40

1.22e-06 £ 1.74e-06

-0.3176 £ 0.0032

-0.003 -0.002 .001 d f.ﬂ[}‘l

m main

0.002

1

72 | ndf 45.58 / 40

p0  -1.379e-07 £ 2.23%e-07

Pl 0.931x 0.000

—0.001—

-0.002— iy

-0.003 -0.002 -0.001

x= /[ ndf 39.45/40

pld  -7.611e-09 = 7.598e-08

Pl 0.9993 = 0.0001

0

-0.001

-0.002

-0.003 -0.002 -0.001

dt

0

1

210 /40

0.001 —
| 2  ndf
I H}H p0  6.727e—07 + 1.763e—06
7.0005|— —{ Hﬁ
I : o1 _0.4129 + 0.0030
D_
1.0005—
_Dlnﬂ1_|||||||||||||||||||||||||||||
_0.003 -0.002 -0.001 0

94

0.6

1
1
——=
_—

0.4

0.2

-0.2

-0.4

-0.6

1

+2 { ndf

p0

p1

214.5/40

T7.787e-07 £1.723e-06

—-0.3089 = 0.0030

-0.003 -0.002 -0.001

utual corre

lat

o1

-fit.p

0.001

J.0005

J.0005

-0.001

J.0015

asym_usr

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

ASVYIIl_USr

72 [ ndf

p0

pl

1731 740

1.245e-06 £ 2.208e-06

-0.6564 = 0.0050

0020.00150.0040.0005 0 0.00050.0010.00150.002

2 { ndf

po

pl

167.1 /40

1.452e-06 £ 2.336e-06

-0.7218 £ 0.0052

H‘*ﬂﬂ

—0.0020.00150.0040.0005 0 0.00050.0010.00150.002

p0

pi

ASym_usr

2 { ndf 22 57 / 40
3.511e—09 + 5.853e—08

0.9992 = 0.0001

L0005

J.0005

-0.001

J.0015

-0.002

—0.0020.00150.0040.0005 0 0.00050.0010.00150.002

p0

pi

asym_usr

72 [ ndf 98.12 /40
2.935e-07 £ 3.160e-07

0.9021x 0.0007

o LTS

J.0005

-0.001

J.0015

-0.002

-|—||IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|III

—0.0020.00150.0040.0005 0 0.00050.0010.00150.002

ng

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

at

0.002

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

Lt

I

72 [ ndf

p0

pl

1131 /738

1.097e-06 £ 2.351e-06

-0.5734 £ 0.0058

i *ﬂ F i
H-

I

%2 / ndf

0.0020.00150.0040.0005 0 0.00050.0010.00150.002

p0

p1

108.4 / 38

1.32e-06 £ 2.48e-06

-0.6358 £ 0.0061

ILE
w

—-0.0020.00150.0040.0005 0 0.00050.0010.00150.002

p0

p1

%2 / ndf

63.18 / 38

-3.46e-08 £ 3.45e-07

1.077 £ 0.001

JUUUS

J.0005

-0.001

J.0015

-0.002

—-0.0020.00150.0040.0005 0 0.00050.0010.00150.002

p0

2 { ndf

53.14 / 38

1.516e-07 £ 5.591e-08

0.9993 £ 0.0001

J.0005

-0.001

J.0015

-0.002

—|-|IIII|IIII|IIII|IIII|IIII|IIII|IIIIIIIII|I

—-0.0020.00150.0040.0005 0 0.00050.0010.00150.002




asym_usl

asym_dsl

asym_usr

asym_dsr

run4016 000 asy

at

0.002

0.001

—0.001

-0.002

11 1 1 I 11 1 1 | L1 1 1 | 11 1 1 I 11 1 1 | ] 1
-0.00
—DS.GEI'S -0.002 -0.001 0 0.001 0.002

asym_usl

at

0.002

0.001

—0.001

-0.002

_DlﬂﬂaIIIIIIIII|IIII|IIII|IIII|II

-0.003 -0.002 -0.001 0 0.001 0.002
asym_usl

at

0.002

J.0015

0.001

2.0005

1.0005

—0.001

1.0015

=
I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I

-0.002
IIIIIIIIIlIIII|IIII|IIII|II

-0.003 -0.002 -0.001 0 0.001 0.002
asym_usl

at

0.002

J.0015

0.001

2.0005

1.0005

—-0.001

1.0015

-0.002

m maindet mu

at

0.002

0.001

-0.001

-0.002

_DLDGS|IIII|IIII|IIII|IIII|IIII|III

-0.003 -0.002 -0.001 0 0.001 0.002
asym_dsl

at

0.002

0.001

-0.001

-0.002

_Dlﬂﬂa|IIII|IIII|IIII|IIII|IIII|III

-0.003 -0.002 -0.001 0 0.001 0.002
asym_dsl

at

0.002

J.0015

0.001

2.0005

J.0005

-0.001

J.0015

=
|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I

-0.002
_lIIII|IIII|IIII|IIII|IIII|III

-0.003 -0.002 -0.001 0 0.001 0.002
asym_dsl

at

0.002

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

-0.002

0.002

0.001

-0.001

-0.002

_D.DGS I|IIII|IIII|IIII|IIII|IIII|IIII|IIIIIIIII|I
—0.0020.00150.0040.0005 0 0.00050.0010.00150.002

asym_usr

0.002

0.001

-0.001

-0.002

-0.003
-0.

D_

20.01&0.0040.0005 0 0.00050.0010.00150.002
asym_usr

asym_usr

0.002

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

=
|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

-0.002

1
L0020.00150.0040.0005 0 0.00050.0010.00150.002
asym_usr

=

asym_usr

0.002

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

=
|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

-0.002

—-0.0020.00150.0040.0005 0 0.00050.0010.00150.002

tual correlation:scat.png

at

0.002

0.001

-0.001

-0.002

_D.DGS I|IIII|IIII|IIII|IIII|IIII|IIII|IIIIIIIII|I
—0.0020.00150.0040.0005 0 0.00050.0010.00150.002

asym_dsr

at

0.002

0.001

-0.001

-0.002

-0.003
-0.

D_

20.00150.0040.0005 0 0.00050.0010.00150.002
asym_dsr

at

0.002

J.0015

0.001

2.0005

J.0005

-0.001

J.0015

=
|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I

-0.002

I
0020.00150.0040.0005 0 0.00050.0010.00150.002
asym_dsr

I
=

at

0.002

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

-0.002

1|
0020.00150.0040.0005 0 0.00050.0010.00150.002
asym_dsr

=



